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QUESTION ONE (COMPULSORY] (40 MARKS)

(a ] Solve the following linear equations

)53 —a) —2(5—2a) =3
if) —(10x-2)+3=7(1-2x)
i) sx+z=zx—1

(b) Giving an example in each case ,define the following terms;
(i) A Polynomial
(ii) Degree of a polynomial

(iii)Terms of a polynomial
(2marks)

(c) Solve and graph the solution on a number line;
[(-2(x+8)+6 =20
[j-5<2x—-7<1

(d) Simplify;

(i) (5x3 + 3x2y+4xy-6y?)—(3x% + 7x%y — 2xy + 4xy? — 5)
(i) (7x® +2x%2 +3x + 9)(5x2 + 2x + 1)

... VOth-3
(iii) .

(iv) (=10x2y™*)?(z%y)~°

(eJFactor the following using notable products

() 16x* -1
5 1 11 121
( ] 2_56 + Ex + z—s'xz
QUESTION TWO (I5MARKS)

(3marks)
(3 marks)

(3marks)

(2marks)
(2marks)

(3marks)
(3MARKS)

(3marks)
(3marks)

(3marks)

(3marks)

(4marks)
(3marks)

(a) Find two consecutive odd numbers which are greater than 10 and have the sum of less

than 40. (4marks)

(b) Divide the following polynomials;

(i) ’mf% (2marks)

.3x*—2x3+6x2+23x-7
] -
(ii) Ry (3marks)




() Sketch the parabola of the function y = 5x% + 4x — 12  showing all the intercepts and the
symmetry (vertex) (6marks)

QUESTION THREE [1I5MARKS]

(a) Malik stops at the grocery store to buy a bag of diapers and 2 cans of formula.
He spends a total of $37. The next week he stops and buys 2 bags of diapers and
5 cans of formula for a total of $87. How much does a bag of diapers cost? How
much is one can of formula? (3marks)

(b) Solve the polynomial 2x° + x* —2x—-1=0 (5marks)

(c) Sketch the graph of the cubic function f(x) = x> — 4x? + x — 4 stating all the intercepts and the
critical points. (7marks)

QUESTION FOUR (15 MARKS)

(a)Solve by completing the square 9x? — 24x + 13 (4marks)

(b A store has requested a manufacturer to produce shorts and jackets for sell. The manufacturer
has 750m? of cotton textile and 1000m? of polyester. Every pair of short (I unit) needs Im? of cotton
amd 2m? of polyester. Every jacket needs 1.5m? of cotton and Im? of polyester. The price of shorts is
fixed at $50 and jackets at $40.What is the number of shorts and jackets that the manufacturer must
supply to the stores to obtain maximum sale ? (11
marks)






